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Multiplying polynomials - Fractions - Simplify product of monomials and binomials
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18 \37 28
512) —(1—x— 1)

514) 45§ 16ga— 1i
39\ 70 11

516) 1-2[36=2 p + 102
53\ 59 19

n
518) (482 0+ 318
34\ 56 77
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2m+ 20 3
70

38—x+ 191—
28
38£b -1
3 11
1—x+ 15—
3\ 69

97’n-1—
1

535) 1—
88

520) Oor(133, 345
81\ 35 83

522) 284 (240 - 122
% 36

168v/(1
s24) 8V(1, 55
1 \3

13 46
526) 182( )
25

11
528) ) 4§k+—
39\ 6 23

2
530) 28 ( 41 1_3)

21—x+30
53 46 32

532) 8 1£m+ 2
67\ 22

534) 2811 (75p - 132
74 65

536) 7-2{3p - 12L
95\5 58

2
538) 187x ( 19 9)

9—x-1—
10 35 19
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539)

541)

543)

545)

547)

549)

551)

553)

555)

557)

1
16 En + 455
17\74 45

@ 1£a + 10£
25\ 4 63

19—(1—x+13

29/, 2 37
46\" 15" 68

24 391a + 41£
53\ 68 94

3013p(28 | 17
66 |29 20

2
088 (33 L+ 282
81 |\ 13 = 19

3\ 38 13

9
10\ 49 66

E ZOEX + 18ﬂ
31\ 36 82

112 p41d
4\"52" "4

2
540) LT PN
38\ 11 60

542) 21 5(1 3y 4120
2\ 14 T4

5a4) 2957 2 10
60{12° 99

36x* 7
546) X[y 4 2050
37 46

7 2
88\8 61

_r—_

84(51 96
97

550) 1—
95|58

552) 6-o{ b "
17\11 48

554) 125(122y 42 L
12757 “o2

34
556) ~22(16-"a+ 61
45\ 52

558) 22z 19§k— 1E
92\ 28 37
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27 122
550) 3511 {45220 27 560) ~22N 31 4 14 472
0| 62 43 73 761 5

51
s61) 4103198+ 31 14 562) >{99m + 43>
67\ 64 45 80 6
4
563) 45°2(21-_p _8 564) 15|y + 3L
88\ 17 15 5146 24

32r3
565) 495(40 20 +123 566) ~2 {201 + 482
o\ 69 03 17728 s
1 4 19n
567) —— (451 - 568) —'(82n + 482>
10\ "4 69 31 40

1
560) 200X (1647, 3L 570) 292 (56a + 3%
3 (" 72" a2 38 82
571) 2220y 4+ o2 572) 621 x+1->
45\98" 66 52{7 20" 11
2
573) 18— (24 20x - 122 574y (432t + 222
36\” 87" 30 33 59
575) 925(24 3k + 1098 576) 15122 p+ 12
2\"sa T go\ 23" 41
4 5
577) 208X (5329, L 75 578) 12(2m+ 1%
g7 |70 3 90
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579) 122
47

581) 15(
4

1

585) 11(
9
587) 2

589)

591)

58

1—x+41
3

25
=I5
33(

87

2
503) =P
2

185x

595)
59

14
597) 14b
23

773n°
n (1

|

68

42

1

26
(—a +9
31

43—X + 1£
87 25

5

27

§k+ 12

39

ib+

48

(3lx +

23
—nNn
30

2

5

222 n4+33L
49

49

10
51

|

4
87

|

+30

2
29 _1§)

[

29

1

-

|

|

583) 12— 11in +22—
24

33

a7

2
27

|

580) 1815 +2
9’19 8

582) £(ﬁb + 383)

25\40

584) 9 55

84

586)

52\ 13

588) ﬂ( 3

73 \5

590) 6—|>x+8%7
80182

592) 9>
94

594) 12—
58

—|(10—vVv + 29E
19

73
—n(lln + 171)

59

35 24£m + 20i
83 17

1,12, 474
85

19

42

6

11
+ —
o

77

83

596) 165|122 — 6
30\ 37

74

598) 42§ 15—n- 1g
44\ 87 3
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599) 125(262 x+ 301> 600) 22 {23254+ L
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-31-



MATHX.NET

Multiplying polynomials - Fractions - Simplify product of monomials and binomials

Simplify product of fractionswith onevariable:

2 3
1) l(11n " 15)

2) 21(1m - 31)

3\ 2 8 6\2 6
n*+1-—n° 1im - 6ﬁ
12 36
2
3)ir+E 4) 18x X 21
4 S 7 3
32,9, PRI
4 20 7
1 1
5) 12 1x+ 23 6) ~[sn-1°>
7\2 4 3 8
7 7 3 24
5 3 1
7 2[22p-12 g >(13y-1
7\ 5 5 2\ 8 4
2b-° o 123,
7 16 8
2 3 3n
9) 42[Zx+3 10) 2120 +32
7\3 4 4\ 5 6
25y433 1102423,
7 14 20 8

29
11) <A 21a+2
7T\7

SEa2 + SEa
49 7

3(1 3
12) 4=[=p+=
) 7(6IO 8)

31 37
42 56

3
13) 312k+12 12y 13{11x-11
5\'s 5 a\'s” T2
212 111 L
25 25 2" 78
13 1
15) 13[11n 433 16) =M1 34 2
7\"3 T4 4\"8 6
120452 PERCIE
21 14 2 24
13x[7
17) 1E 1§r + 31 18) =X —X+ 71
g\"7 s 4\8" ‘4

2£r + 53
14 5

szz + 233x
32 16



1
19) 2[12n+1
4\"3

33) 3(1im+ 13
2\"4 4

4—m+6£
8

a7y aX{lp+ 1t
2{3” 73

11b+6
2

n n
12 3
19v
38) Y (11v+43
572 '8

5;lv2+16§v
10 8



2
7 5
7X — —
40 16
a1) (143
2\2 7
3
~a’ - 6£a
4 14

7 21
0n3( 2

45) 1=n-2
313

5§n4 —~ GEn?’
9 3

2
a7y O (13 m -3t
7 (72" "2

1 11
1=m® - 2=—m?
2 14

1
49) 11 n+—
2 4
3n+§
8

51) 23(12p-31
273" s

4~b-8
6

53) 22(2x+ 15
7\6” 75
11 12

2—X+4—
42 35

2
55) V—(sv + 2§)
4 7

v+ Ev2
28

40) 4E 11n+9
6\ 2 7
71n+41
4 7
2 1

42) 3—-|4p+

23foe)
2 5

145p+1>
3"

44)

1 2
A
2" 76

11ix3 + 5§x2
12 36

46) 33(§r - 11)

3\3 2
Zﬂr - 52
9 2
11
48) = 21x+ 1
6\ 6
3§x2 + 1§x
36 6
2
50) 307,42
8\ 8
1£v —
64 4

58) 1§(3§n + 2)
4\" 6

6£n + 31
24 2



67) 13[adp 45t
4\'6 8

sz+8§}
24 32

69) 1°[13x+3>
574" 76

2ﬂx+6££
5 15

71 23 tk+12
2\7 3
5
7k + 4;
14 6

1,3 .1
73) Z[35p+3>
)2( 4P 2)

7 .3
1-p+1>
8" "4

75) 32120 -1
56 8
623

30 40

123t -2t
6l "4 "4
23 1

S—r—4—
24 8

1
2
3
—x+4j¥
8 14
2
76) ™ (12m-3t
25" 73
;
L - 1207
10 3
5
78) {11511
272" 75
2lys 1%y
2" s



79) 33(11n -3t
572 "8

4ﬂn - 10
5

1
7 2 4

1

11—x? + 18=x
14 28
17k (1. 2
89) —([=k-=
6 \2 3
1£k2 —~ 1§k
12 9
o) SX[L, 1
7\3° 2
1Ex2 - ZEX
21

o7y 127 p+2
7\'s 6

11£b + 1173
56 42

96) 35[a2n+3L
4\'8 6

15in + 101
32 24

98) 2=y +=
3

B3 (1 1
2

3 7
8=v*+1—v°



2
99) % 21x +—
3 5

101) 11 X+ 2§
2 4
11x+4£
2 8

1
103) 61 —n- 11
2\2 6
31n - 71
4 12

105) (51 x+4>
2712”79
6L, A
122" " 108"

3

107) Z 32 w45 L
7 \"127 " 710

31l.s

35

1
Beta

3(. 1 1

109) —[1—m+5=
11\ 10 2
3 1

10 2

111) (3x + 1)
2
2X + }
3

113) 33(21p + 28
6l 2 "o

7£b + Qi
12 27

4
15 2 (a8 2L
s\ 12

3£r5 + 1£r4
33 18

117) 801 5
12 \2 12

(LI KL
24 144

106)212 k-3
5 10

23 7

4—k-8—
30 50

108) 1§ 11n+§
4\ 2 9

2§n+1E

g 9
25 2
110 p L h+a?
12" "3

2
2L 24162
12" 3"

112) A P
10\ 3 2

81n + 2£
30 20

114) (2x +3— j,)

118) 13[5-1x 412
4\"10° 75

6§x+2
8



1
119) 22(63v+ *
ol '8 2

141V + 1£
6 9

121) 1+ Sa+2
4\6 5

1ia+1
24
123) 3> 21p 12
10\ 6 11
20 11

125) (Zr +1< 2)

1gr + 11
3 18

127) (44m +§)
77

1£ + E
21 7

129) 12 O nial
3111 10
4 5

1—n+7—
11 6

131) 13[4ty -2
3\ 2

71v—3}
2" 73
7n(2

133) (2011
5|3 8
14
e
15
3k* (7

135) X (N L
5\8 12
Ek3+173k2
40 20
1

137) X1 1 8
13"
1792_4473

33 121

54
120)—X11x 51
12" 73

7ix2 + 26£x
11 11

122) 132k + 12
4 6

21k + 21
2 24

1
124) 3i 22X+ —
10 3
6§x + li
5 10

5
126) 52(a8n+2
3\'7 8

27E 31—3
21 24
1

128) 31 —Xx- 1g
2\10 5

AR

20 10

1

130) 3—b( b—i)
11
3ib2—23b
10 11

132) 13(31x43
sl"6" 8

17 33
4—X+—
48 64

136) PN
57 T11

8 4

15 11

138) (12n 1= ;)

4n - —
9



7p? 1
139) P (g2p -1 120) BMf5lp oL
10\ 6" "2 > P2 ‘12

61t p® - = p? 3im? +185m
60 20 8 24
9 3
141) 41120413 142) X[x+>
1273 10 10" 10
27
8- n+6 L e+ 2y
36 120 100 100
b 21r?
143 21 L1p+1d 144) 61r+12
9’10 6 52 75
1., 7
—b’+—b 272134722
90 54 10 25
4 1 10n® 1
125 2 [11x-22 146) 7n+3=
1173 "6 11 6
16
POyt 6t 4223
33" "33 11 33
2 13b? (2
147) 1>{2y -1 148) 2p_ 12
11{3 3 3
28
33 11 6 12
2
1 1 7 4
149) 2 (3= x+2= 150) 12[Lx+62
37117 s 7\10” o
11
1153 4 21y 13 1%t
33" 15 10 63
1
151) 6 (32a-11 152) a2(12¢-1
10{"12° "12 6’7 5
107 31 5,0
1207 ' 120 14 6
29p° (3
153) 5 {9 x+ 22 150 2P (3, 51
ol"8" 8 5 47 “10
57 x+ 15+ 4L pt - 122 p7
18 6 20 50
1 2
155) 12[m-+ 156) 32(2n+2
3\ 2 5{(3
1Em - Zin + 6ﬂ
3 6 15 5
1 11
157) 12[13r + 22 158) H(3dx+ L
6l 74 7 79" 12
31 11
3£r + 4§ —X+—

24 7 36 48



2
159) 15{atp+2
7\ 7

20
5§b +—
77
161) L(1tv+s "
3\ 2 10
1
—V+ 1g
2 10
3
1
163 (13t
7\4 T2
3
7n4 _ 3n3

165) 1(21 k+£
2 11

2 1
169) 1~ 6o m+ a4t
5\ 11 10
9§ + 5g
35 50

171) 2X(134457
74 s

33 2 + 12§X
4 56

1
173) 26 Lp-1
1\ 10" 3
1822
55 33

175) 12 1x+ 32
33" 75

5
5,51
9

2

a
177) — 5%a-12
6\ 5 5
P 3,

30 10

2

160) @(En + 11)
12 \4

2 llnz + Bgin
16 12

162) 59(31x+ 4
11\ 2

202y + 23
22

2
164) (20412
23" 7o

1
3a2 + 6—a
2

166) 22[53x-12
6’4 7

161x - 3g
24 14

168) 15[18n-17
gl'9 8
Zﬁn 2E
72 64

1 3
170) =|1=p+1-—
o)
3 13
+ —

s 10

172) @(n " E)
3

5
lln2+ “n
4

174y 1311 -3
7\ 9 12

—n —b—-n
40 5
4
178) 324y 6t
A CHERET
S 6

1—v+24—
7 11



1
179) 3 [+ 12
ole” "7

E +5ig
63

2
181) 41 —a+ 1g
2\3 3
3a+ 7}
2

183) 65]atp+3=
4\ 9 10

27§ p+ 20E
4 40

185) - S PN
4" T4
7.5

12 12

187) (7r + 1)
5

5§r +i
5 25

189) 4(5n+1%
3 7

21g + 6£
3 21

191) 1g 4iv+4i
3\ 12 12

6§v + 7E

36 36
2

193) @ 18n
919 7

1144 2
81

+ 1£n
63
195) 11 la+ 1§
5\4 6
3 1

10 5

197) £ 2(33,-12
8" "3

2( 4
180) =[—x+2
5(11
8.4
55 5

2
182) LS
9 \2

17 7
—k3 -3-k?
18 9
184) 13n +1= L
10 2
13 3

80" 16
1 3
186) - 3113
5 4
9 9
7m -_——
10 16

188) (65x 8)
6

4gx 5§
42 7

22b2( 3 4)

190) 3°h+5—
9

8= b3+1325
81

192) (x 12)
5

b2

1. 7
2" 10
17k?
3k—1
12
17
122
20 12
5
196) ~2X (315442
8 \"2° 5

133x6 + 17ix5
16 20

194)

5m
198) — 41 +1— 11
7\ 8 12
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1
199) 72 {6-2n+12 200) 5p 1o40t
1\ 12 %5

11 3
48>n+14% 1nlp2+83p
12 121 8 4
2.9 13p?
201) 1| Lk+—~ 207) P (-1 10
13157 11 3 13
12 1 1 2
L 2 4=p* -7=p°
65 143 3 3
1
203) 1281y + 61 204) 51 n-132
19{4” 7 15 20
T 128 sln g2
133 15 25
63n[_1 1(.1 4
205) 2N(51n 413 206) 9=[9=r +—
16\ 2 4 4\"3 17
21212 1620, 8611 + 2>
32" " Cea 3 17
5m*
207) 92 m+ 2L 208) 219 + 18>
7 \ 10 15 o BT RET!
7 e+ 1 42 13028
21 220 220
7(1 7 3
209) 2-—(8=b-12 210) Y17y +>
15\ 8 5 7
201293 234243,
24 5 5 5
1
211) 12[2n- 130 212) 2 2084 12>
ol T17 9" "1
En - 2E lgx + ll
18 51 277 11
36n° 1
1n - 214) 9ﬂ 11k+ BZ
194 3 7 9
12
2 Lo~ 2ops 14> + 3622
19 19 14 63
5
215) 1924+ 2 216) 2Pelp+12
16\ 7 7\ 7 7T
120423 1221y
28" 8 49 49
217) 537 (3%x+ a1 218) 1->(93n+52
20°7° " " 16 11174 5
1951 1+ 2349 123n+62

140 64 44 55
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219) 7Z 11m+ 1£
8\ 3 19

101m + 14§

2 38

221) 1 ix + 81
2\13 5
1
13 10
1
223) ib 10£b + 71
9 11 4

19lb2 + 12§b
99 9

25) 15[9x+1
4\ 10

17535 +13
40" T4

;
227) X102y -3
s\" 7 17

3
233) 8P (5 7 38
9 \“12" 79
8 o 37 0®
27 81
9
235) 2 (531482
1378 11
31 5ist
104 143

10( 1 7

2 4-3

237) 1—(18—x—-2—
17\ 10 11

22, 4%
170 187

|

1
220) 7g 21r +—5
5\ 3

17
l7ir + 6g
15 17

73
222) 710108
12\ 2 11
45§n2 + sgén
8 132

7?4
224) L(—r - 9)
6 \7

2
3 - 101r2
3 2

226) 13 10£n -4
13\ 18

143n - 51
13 13
834 2
_a —
10 7
1
133

228)

1
42
25

2 2
230) L(zx 4 6§)
7 6

—x3 + 1§x2
7 21

3
(0, 3
12 \ 13 5

232)

18§n4 - 23}n3
39 5

232 145x ( 3 5 )

1—x+3—

16 4 18

15§x2 + ZQQX
64 288

2
236) 293 m— 22
55 ‘6
25 15
238) 73718, 14
0\ 11 5
29 13

12—r-14—
220 100
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239) 5i SEb + 10i
19\ 6 11

304—0b + 531723
57 209

241) & 3£v—1
18\ 12 3

2&2 11

Vo ——V
216 54

2

243) 2725412
5\'9 5
134, 6
=—n?+—n
135
127k

2a5) K[ 412

16 11

15Zk2 + 12£k
8 176

1 4
247 520( Ly 4
17\19" 17
101
L 115

323" 289
13 1
249) —|2r +6=
18 7
4 55

1or+4-—
9 126

251) 4~ BV
18\16° 12
9 151

2—X+ 26—
32 216

253) 32(1-Lv+1
3\ 10
30 3

255y X[, 41
19\"14" 73

117 , 8
—— X" ——X
1337 19

2 2
257) 23,42
7\8" 3

3 4

a
28 21

244) 7ﬁ 1§a+2
13\ 7

lo@a + 15i
91 13

115
246) 12P(g 9 4
19 (""" 77
52ﬁ p® + 105—0 P
266 133

248) 8§(1§n + SE)
8\ 7

18
l4£n+73i
14 144
19m? (1
250) oM (—8 —3%)

41m3 —~ 14zm2
2 9
8 3
259) (12 4713
17\ 19 18
323 153

o5a) 11 2b+ -2
6 17
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11
259)—X 12 x+62
20\ 17" 6
1
2 3&
177 " 120

261) 13, 1
19 8

3 1

152 64
1 15)

1
263) =(4=p+4=
) 2( ERET
1., ,15
+2=
6" 32

265) 4%(2n - 31)

10
81 - 15§
2 40
267) — +9E
16 20
3
—r + 1E
16 320

73
269) =" on+ 12
11 9

133n + 10gn
11 99

271) 222y 485
17\ 9 18

1§v + 6ﬁ
51 51

21a?
1ﬂa+5ﬂ
5 5

39 5
50°

3—a’ + 123a
50
10
23 1

4K+ 14—
30 40

277)23( °, GE)

275) 23(1—k 5-— 1)
4\" 15

10 13 20

3 1518
130 200

2 11
260) 32,1
11\5~ 18

6 1

7X J—
55 6
262) X1k +82
5\6 7
1
L1
30 7

264) 12[91x+ 2L
3\ 2

270) 3130+ 1022
15

4—b + 4i
8 40

272) —( 1—3x 47)
14

6on +72n
21 28

276) 77p —p 1, 10
16 13 13
B, .73

-3
26p 104p
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10 6

10
17 20

6
279) MM (1 130412
17

281) 1-(x - 2
14 12

14 168

2
283) 15b ( 8 2

71ib3 + 763b2
34 3

15 2 1
285) —{105x-=
16" 3" 2

1
10x - —5
32

1/4
287) ——a+11
3\5 2

4 1

7a —
15 2
14
17 14 11
9 84

8—x% + —X
17 187

291) E 81n + 1i
4\ 2 16

289)

1 17
2—+—
8 64
13(1 _ E)

293) 6—
2 19

18

36 b 342

205) 2120 +3L
o\'s s

9—Db+ 10—
17 9

280) 1—(1>r - 4—
17\ 9

13(, 5 11
14

2
282) M fs 1,3t
5 ("10 7

16
286) 12 (590 + 22
16720 19

288) 93y - 18
20\8

SQV - 1641
160 10

200) 81(x+ 1%
7 2

81x + 12i
7 14

202) 61(al K+ 2
2\ 12" 15

ZQEk + 31
24 15

2oay X[11x-12
gl 2" 3
3, 1

7x — —
6 6
2
206) M (12,12
2 {73 75
1, .1

2-m° - 2—m?
2 10

6
208) N(11,_12
773" "3

11n2 —~ 1§n
7 7
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10\ 19 16
190 160

301) 22(11tx 41023
43\ 24 26

7x? 1
299) i(lgx - —)

245 795
344 1118

178n° (25 13
“h+ 12—
11 \38 24
135

10—n* + 202%n3
209 132

303)

14
305) 2[1-Lp+s>
25\ 44 16

357 117

550 200
307) 123 2x - 1>
18 13

2 6

25—x-17—
9 13

309) 213(r + 21%
8 30

ler + 4447—9
8 240

29x2( 28 1)

311) 11 "%+ —

33 43
858 1118

5 2
313) 2 (149 112 L
4\"30 50

7 31
18—V3 + 17—V?
24 40

315) (2o + 172
4a7\37 T 17

128
b+3 35
1739 799

k
317) — 14193
23\ 37 4
AkZ + Ek
851 92

300) 31 9§b + 31
4\ 8 2

Blgb + 11§
32 8

302) 2[12y+11
26\ 5 2

12y 1L
130 52

304) 82(152a-1
29\ 39

134§a - 8E
87 29

24
306) ZOE 11—9k+—
33\ 25 35

36+ K+ 1420

15 77
308) 16—|922n + 50
36\ 23 43

160>Cn + 92
69 1548

3
310) M (233 4 13
5 (U172

37lm4 + 2£m3
85 11

312) 9/ (11n- 13
'3 T4

12340 21632
45 120
12
314) 2(10%7n+ 165
37\ 46 29
4369 . 299
851 1073

31(24 8)
+

316) 21—[x+ —
331207 25

50 17

18—x+7
319 825

147x ( 19 )

318) 24—x—-30
40

31
9oﬂx2 - 1101x
1240 4

-16-



319) 61 23ia -13
6\ 27

1422245 - g0
162 6

8
321) N[173n16>
1317 16
126, , ,23

10—n“+3—n
221 26

1
323) 1 7£p 21
47\" 39
004 @
1833° 47
17
325) 20040 _ 573
20|94
7 7

19—n? -32—n
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